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Background and rationale

Patient is placed in the right lateral decubitus position 
and the surgeon accesses the disc space just anterior 
to psoas muscle through the space called 
ñRetroperitoneal Oblique Corridor (ROC) ò

The oblique lateral interbody fusion (OLIF) is one of the 
minimally invasive procedures that yields satisfactory 
fusion outcome.
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Objective

To determine whether the retroperitoneal oblique 
corridor will be affected by the hip position in the right 
lateral decubitus position.
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Methods

Exclusion criteria

Any previous surgery

Need sedation while performing MRI

BMI > 25

No retroperitoneal corridor

Any contraindication for MRI

Inclusion criteria

Patients undergoing a diagnostic MRI evaluation



Methods

ÅMRI: 3.0 Tesla System (Phillips Ingenia ®, USA) 

Hip flexion
(Rt. lat. decubitus)
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(Rt. lat. decubitus)
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Measured Parameters

Retroperitoneal Oblique Corridor (ROC)

Relative Cross - sectional area (CXA)

Relative psoas thickness (Ant.1/3)
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Demographic Data

Number of patients 36

Age 52.47 ± 10.37

Gender Male= 17, Female= 19

Diagnosis Spinal stenosis = 10

HNP = 8

Spondylolisthesis = 5

DDD = 6

Others = 7

BMI 21.23 ± 2.24

Results
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Results

p = 0.025

p = 0.033

p = 0.016



Results


